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One in a natural manner and one in an unnatural manner

Overview

When one is 7n97/0187 a 72775 R?W 712102 he is 2°°17 a 01p of 2pw o°wonn although she
still remains a 779102. If another is 71n972/01X87» her 7977 afterwards he is also 2 the
o1p Ppw oowonn. When X1 ' cited this case he states, one 719775 and the other X7w
15972, in which case the second one (772772 X?w) would not be 21 a 01p, since she is
no longer a 1703, for she was already 75772 7%¥21 by the first person. m»oin
discusses the order of the phrases in this and other places.
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X7°1 "1 should have mentioned ;75772 8> first, but rather this is the manner of
the X922 that he is not concerned about us misunderstanding the proper order -
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As the X713 mentioned previously when it cited the 57327 327 Xin, which stated that

regarding wounding an animal the 770 did not distinguish ‘whether it was

intentional or whether it was unintentional’ -
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When he should have mentioned 1202 X first, as he stated initially ‘whether

it was accidental or premeditated’ -
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Rather the reason he said 1onn first is because this is the manner of the X923 in

! This moon is referencing the X123 on 2,7.

2 13 was wondering why they both pay the same 01p (when one was %¥12 a %W and the second one was 212 a 7m130).
However the first one had to be 79772 85w in order for the second one to be 01p 2°11. See ‘Overview’. 1"7 should have
said X (the first one) 719772 X2W, so she is still a 72103, and 71X (the second one) 73772.

3 The X3 knows that we will understand ourselves the proper sequence of events. (1"1 did not say 121 73773 WK
79772 ROW, merely 121 71X 121 T1X.)

4 The n"7n reads X2X 717 170197 127 191502 PRWD 119072 193 T°TH2 P2 MIW2 172 12 DRSO XY 7072 797 00 7R3 790 07X 191
121 717 1275,

3 There is more reason to hold one liable by P13m», rather than by 1201 11X.

® There is less reason to hold one liable 31w2a than by 7m. Initially the 1"7n mentioned the novelty (33w) first, and then
the more obvious case (7°17) later; he should have done the same by mentioning 7m3nn & (the novelty) first, and then
™507.

7 When he is mentioning 711 3, where there is no “positive’ (yes) and ‘negative’ (no), he prefers to mention the
novelty (3 w) first. However when it comes to 11207 (a positive [he is having intent]) and 71501 K (a negative [he is
not having intent]), he prefers the positive. Here too 75773 in the positive (normal way) 713775 K7W is negative (not
normal way), therefore he mentions 7713775 first, even though that in in the case of 1" the 75775 X?w happened first, but
1" was sure that we would understand that.
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instances where he has to teach a positive and a negative that he mentions the positive
first.

Summary
The X773 may mention things not in the proper order, in order to cite the positive

before the negative.

Thinking it over

Seemingly n19010 proof from 121 11507 by the 1170 1s insufficient, There (by 11"7n) it
really does not matter that much which one is stated first, the main idea there is that
the law applies in all cases equally, however here by "7 there is a major difference
whether the 715772 was first (in which case there is no 01p for the second person), or
the 172772 X5Ww was first (when there is a 01p for the second person); so why say it in
the wrong order?! How can m»oin compare the two cases?!
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